

LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SJP 7385R

| Qty | Description of Parts | Condition | Estimate By Workshop (\$)) | Our Adjusted (\$) |
|-----|--|--------------------------|-------------------------------|-------------------|
| | REPLACEMENT OF PARTS | | | |
| 1 | REAR WINSCREEN RUBBER | NECESSARY | 92.70 | 92.70 |
| 1 | REAR TAILGATE | DISTORTED | 1,403.50 | 1,285.00 |
| 1 | REAR TAILGATE UPPER LOCK | DAMAGED | 397.80 | 397.80 |
| 1 | REAR TAILGATE LOWER CATCH | NOT NECESSARY | 38.80 | - |
| 2 | REAR TAILGATE HINGES @\$94.50 | NOT NECESSARY | 189.00 | - |
| 2 | REAR TAILGATE SHOCK ABSORBER @\$252.60 | NOT NECESSARY | 505.20 | - |
| 1 | REAR TAILGATE INNER BOARD | CRACKED | 361.00 | 361.00 |
| 2 | REAR TAILGATE INNER TOP SIDE GARNISH @\$284.40 | NOT NECESSARY | 568.80 | - |
| 1 | REAR TAILGATE INNER TOP CENTRE GARNISH | NOT NECESSARY | 244.00 | - |
| 1 | REAR TAILGATE WEATHER STRIP | CUT | 332.90 | 332.90 |
| 1 | REAR TAILGATE HANDLE | CRACKED | 240.80 | 240.80 |
| 1 | REAR TAILGATE CENTRE LOGO | NECESSARY | 72.70 | 72.70 |
| 1 | REAR WINDSCREEN | SHATTERED | 1,263.85 | 1,263.85 |
| 1 | REAR WIPER ARM | DAMAGED | 120.00 | 120.00 |
| 1 | REAR WIPER ARM COVER | DAMAGED | 35.00 | 35.00 |
| 1 | REAR WIPER MOTOR | NOT NECESSARY | 969.60 | - |
| 2 | REAR NUMBER PLATE LAMP @\$58.20 | NOT NECESSARY | 116.40 | - |
| 2 | REAR LAMP @\$622.40 | N/S CRACKED / O/S CUT | 1,244.80 | 820.00 |
| 2 | REAR LAMP HOUSING @\$186.60 | N/S BUCKLED | 373.20 | 186.60 |
| 1 | REAR END PANEL | DENTED | 571.80 | 571.80 |
| 1 | REAR END PANEL TOP GARNISH | DEFORMED | 295.70 | 295.70 |
| 1 | REAR BUMPER | DEFORMED | 941.50 | 595.00 |
| 2 | REAR BUMPER SIDE HOLDER @\$63.20 | NOT NECESSARY | 126.40 | - |
| 2 | REAR BUMPER BRACKET @\$51.00 | N/S DENTED | 102.00 | 51.00 |
| 1 | REAR LH FENDER | BUCKLED | 1,400.00 | 855.00 |
| 1 | REAR LH FENDER QUARTER GLASS | SHATTERED | 657.60 | 657.60 |
| 1 | REAR LH FENDER QUARTER GLASS MOULDING | NECESSARY | 126.50 | 65.00 |
| 2 | REAR FENDER INNER SIDE GARNISH @\$780.40 | N/S DEFORMED | 1,560.80 | 645.00 |
| 1 | REAR LH FENDER INNER TOP GARNISH | NOT NECESSARY | 188.50 | - |

Report Ref No. CS/LIP23001984/Aqy3e2



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

| Qty | Description of Parts | Condition | Estimate By Workshop (\$)) | Our Adjusted (\$) |
|-----|--|-------------------------|-------------------------------|-------------------|
| 1 | REAR LH DOOR | TO REPAIR SEE LABOUR | 1,968.90 | - |
| 1 | REAR LH DOOR INNER LOCK | NOT NECESSARY | 698.00 | - |
| 1 | REAR SPARE TYRE TOP BOARD | DEFORMED | 560.50 | 395.00 |
| 1 | REAR SPARE TYRE WELL | TO REPAIR SEE LABOUR | 860.00 | - |
| 1 | REAR PETROL TANK LIP | NOT NECESSARY | 227.90 | - |
| 1 | REAR BUMPER REFLECTOR LH | CRACKED | 174.00 | 68.00 |
| 1 | REAR CHASSIS FRAME | TO REPAIR SEE LABOUR | 946.90 | - |
| 1 | REAR LH DOOR WEATHER STRIP | NOT NECESSARY | 276.10 | - |
| 1 | FRONT BONNET | TO REPAIR SEE LABOUR | 640.10 | - |
| 1 | FRONT BONNET MOULDING | CRACKED | 564.10 | 240.00 |
| 1 | FRONT BONNET LOCK | NOT NECESSARY | 200.40 | - |
| 1 | FRONT BONNET LOCK BRACKET | BENT | 191.00 | 191.00 |
| 1 | FRONT GRILLE | CRACKED | 408.90 | 215.00 |
| 2 | FRONT HEADLAMP @\$1883.60 | CRACKED | 3,762.20 | 1,724.00 |
| 1 | FRONT BUMPER | DEFORMED | 530.00 | 530.00 |
| 2 | FRONT BUMPER SIDE HOLDER @\$188.60 | NOT NECESSARY | 377.20 | - |
| 1 | FRONT BUMPER REINFORCEMENT | DENTED | 318.90 | 318.90 |
| 2 | FRONT BUMPER BRACKET @\$189.30 | NOT NECESSARY | 378.60 | - |
| 2 | FRONT BUMPER LOWER SIDE GARNISH @\$216.10 | NOT NECESSARY | 432.20 | - |
| 1 | FRONT SUPPORT PANEL | TO REPAIR SEE LABOUR | 1,069.50 | - |
| 1 | FRONT SUPPORT PANEL TOP COVER | NOT NECESSARY | 318.90 | - |
| 1 | FRONT BONNET LOGO | NECESSARY | 145.40 | 145.40 |
| 1 | FRONT BUMPER SPONGE | CRACKED | 189.70 | 189.70 |
| 1 | AIRCOND CONDENSER | DENTED | 1,418.00 | 1,214.00 |
| | LESS 25% DISCOUNT | | -7,799.56 | -3,543.86 |
| | | | 23,398.69 | 10,631.59 |
| 3 | REAR SPARE TYRE WELL INSULATION @\$684.20 (SN) | NECESSARY | 2,052.60 | 200.00 |

Report Ref No. CS/LIP23001984/Aqy3e2



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

| Qty | Description of Parts | Condition | Estimate By Workshop (\$)) | Our Adjusted (\$) |
|-----|---|---------------|----------------------------|----------------------|
| | LESS 25% DISCOUNT | | -513.15 | - |
| | | | 1,539.45 | 200.00 |
| | SPECIAL NETT ITEMS | | | |
| 1 | REAR NUMBER PLATE (SN) | BENT | 50.00 | 30.00 |
| 1 | REAR NUMBER PLATE HOLDER (SN) | DEFORMED | 50.00 | 30.00 |
| 1 | SET REAR BUMPER REVERSE SENSOR (SN) | DAMAGED | 380.00 | 200.00 |
| 1 | SET REAR BUMPER CLIPS (SN) | NECESSARY | 60.00 | 30.00 |
| 1 | SET FRONT BUMPER CLIPS (SN) | NECESSARY | 60.00 | 30.00 |
| | | | 600.00 | 320.00 |
| | <u>LABOUR</u> | | | |
| | TO SUPPLY REAR END PANEL INNER SEALANT. | | 200.00 | 60.00 |
| | TO SUPPLY REAR WINDSCREEN SEALANT. | | 50.00 | 50.00 |
| | TO CHECK WIRING. | | 100.00 | 60.00 |
| | REMOVE & REINSTALL REAR WINDSCREEN + QUARTER GLASS. | | 380.00 | 170.00 |
| | REMOVE & REINSTALL BOOTLID INNER GARNISH. | | 300.00 | 60.00 |
| | REMOVE & REINSTALL CAMERA. | | 100.00 | 50.00 |
| | REMOVE & REINSTALL REVERSE SENSOR. | | 200.00 | 50.00 |
| | REMOVE & REINSTALL PETROL TANK. | | 200.00 | 60.00 |
| | REMOVE & REINSTALL CUSHION + UPHOLSTERY. | | 200.00 | 80.00 |
| | REMOVE & REINSTALL DOOR GLASS. | NOT NECESSARY | 100.00 | - |
| | REMOVE, REPLACE & REPAIR CONSISTENT TO THE ACCIDENT. INCLUSIVE OF THE REPAIR OF REAR LH DOOR, REAR SPARE TYRE WELL, REAR CHASSIS FRAME, FRONT BONNET AND FRONT SUPPORT PANEL. | | 2,800.00 | 2,000.00 |
| | RESPRAY PAINTING. | | 2,400.00 | 1,500.00 |
| | | | 7,030.00 | 4,140.00 |
| | GRAND TOTAL | | 32,568.14 | 15,291.59 |



Page No.:4 of 4

| RECOMMENDED COST OF LUMP SUM REPAIRS | 11,000.00 |
|--------------------------------------|-----------|
| (TO ITS PRE-ACCIDENT CONDITION) | · |

Report Ref No. CS/LIP23001984/Aqy3e2

MARKET VALUE: \$14,000.00 (EST)-LTA REIMBURSEMENT VALUE: \$2,965.00=NETT VALUE: \$11,035.00



ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.